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1 | Ifthe ordered Pairs[x—l,y+3) and {2?x+4) are equal, findx and y
() (3.3) () (3.4) (1) (14) () (L0)
2 | . n(d4)=3,n(B)=2,4And B are two sets Then no. of relations of Ax B have.
() (6) (i) (12) (a) (32) (v) (64)
3 | Let f(x)=—|x|then Range of function
(i) (0,02) (ii) (—=o,2¢) (iii) (—==,0) (iv) none of there
4 | Areal function fis defined by f{:r) =2x—5.Then the Value of f{—3:)
(i) -11 (i) 1 (iii) 0 (iv) none of there
5 Let R= {{xﬁ—y] x,y=e W 2x+ }«‘:B} then
(i) Find the domain and the range of R (ii) Write R as a set of ordered pairs.
6 x* —3x+1 (1)
Iff (x)=————. findf (-2)+ f| < |
x—1 3
! Find the domain and the range of the function f{:r) =3x" —5. Also find f(-3)
and the numbers which are associated with the number 43 m its range.
8 | Find the domain and the range of the function f(x)=+x-1
9 | Leta relation R={(0,0),(2.4),(-12).(3.6).(1.2)} then
(i) write domain of R (ii) write range of R
(iii) write R the set builder form (iv) represent R by an arrow diagram
10 | Let 4={1.2.3}, B={123,4} and R={(x,y):(x,y)e AxB,y=x+1]
(i) find AXB (ii) write R in roster form
(iii) write domain & range of R (iv) represent R by an arrow diagram
11 1

Find the domain and the range of the following functions f(x)=

N
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12 | Let f(x)=x+land g{x):Qx—S be two real functions. Find the following
functions (i) f+g (ii)f—g [(iii)fe {z’v}i (v)F* -3¢
4
13 | Find the domain and the range of the following functions
} X=3 ... X 1
(@) f (x)=——(@1) f (x) =——= (1) f (x) =—
2x+1 1+x 1-x
14 | Letfbe a function defined by F:x —=5x*+2, xe R
(i) find the image of 3 under f (i1) find f{3)+f{2)
(iii) find xsuch that f(x)=22
151 1f 4={1,2}, find (AxA4x4)
16 | If 4 and Bare two sets containingm and nelements respectively how many
different relations can be defined from 4 toB?
171 4 Function f is defined by f(x)=2x-3 find f(5)
18 | If 4={1.2,3}B={3,4}and c={4.5.6}
find (i) Ax(BUC) (ii) Ax(BNC) (iii) (AxB)N(BxC)
19 | Let A4={12},B={1.2,3,4},Cc={5.6} and D={5.6,7.8} verify ~ that
(i)ax(BNC)=(AxB)N(AxC) (ii)AXC is subset of BXxD
20 | Find the domain and the range of the relationR defined by
R :[{x+1ﬁx+3}:xe {0,1,2,3,4,5}]
21 | Let 4 :{1?2?3,4,5?6} define a relation R from A4 to 4 by
R :{{xﬁ_}') y=x+lx ye .{}
(i) write R in the roaster form
(ii) write down the domain co domain and range of R
(iii) Represent R by an arrow diagram
22 | Find the domain and the range of the following functions:

(1) f(x)=x=a (i) f(x)=\16—x(ii1) f(x)=——

O—x
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INDIAN SCHOOL AL WADI AL KABIR
DEPARTMENT OF MATHEMATICS 2023 — 2024
Work Sheet — Class XI

Relations and Functions (Answer Key)

1 |(34) 2 64
3 | (—,0) 4 -11
5 Domain of R = {O,l, 2,3, 4,}and range of R = {8,6,4, 2,0}
6 | Domain=R-{1}
7 | Domain =R , Range = [-5, ©)
8 | Domain=[1,) , Range = [0, )
9 | Given R=[(0,0).(2,4).(-1.-2,).(3.6).(1.2)] /f' B
L \\ .
(i) Domain of R=[0,2,-1,3,1] [y ,'(D\
[ 2 II' il
i1 - ¥ = -2 -
(ii) Rang of R=[0,4,-2,6,2] |I 1 I! II -2 ||
(iii) R in the builder from can be written as I'-. 3.7 ';r'ﬁ /
R:[{x,y}:xEI,—IE.&:EE,_}':Ex] I\\l'jf ':/j
(iv) The reaction R can be represented by the arrow diagram are shown.
10 B
A N\
@ {(L1).(12).(13).(L4) [N o [T
(21).(2.2).(23).(2.4) (] -
3.1 3.3).(3.4 = ~a |
(3.1).(3.2).(3.3).(3.4)} 3 4
(i) R=[(12),(2,3),(3,9)] 4 -
(iii) Domainof R = {1?2?3} and range of R = {2,3,4}
11 D_;— :{—WJS} R}_ :{{}?m}
121 (1) (f+g)(x)=f(x)+

g(x)= {x+1)+{2:r 3) 3x-2, for xe R

_ —g(x)=(x+1)—(2x-3) —x+4,forall xe R

(iii) {ﬁi; {x} f{x}: x+1) 2x— ):2.1:2—1’—3, forall xe R

| f f(x)  x+1 ?Iig?XER
g{x} 253 2

(v) (f‘—3g)(r}={f3){x)—(3f){x}=(f{x))2—3g(r)

=(x+1)" =3(2x—3)=x" +2x+1-6x+9

=x"—4x+10. forall xe R
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L 2] 2
D, =R R, =(0,1)
D, =R-[-11] R, =(—o=,0)U(Lee).
14 | (i) f(3)=5%x3"+2=5%x9+2=47
(i)  f(2)=5x2"+2=5%4+2=22
S f(3)xf(2)=47%22=1034
(i) f(x)=22
=5x"42=22
=5x" =20
=x'=4
=x=2, -2
15 | axd4x4={(111).(11,2),(1.2,1).(2,11),(2,21),(2,2,2)}
16 zm—rz
7 f(x)=(2x5-3)=7
18 1 ¢(1.3).(1,4).(1.5).(1.6).(2.3).(2.4).(2.5).(2.6).(3.3).(3.4).(3.5).(3.6)}
ax(BNC)={1,2,3}x{4}={(1.4).(2,4).(3.4)}
(4xB)N(BxC)={(3,4)}
20 | Domain of R =[1,2,3,4,5,6] and range of R=[3,4,5,6.7.8]
21 1) {(12).(2.3).(3.4).(4.5).(5.6)]
(ii) Domain :{1‘ 2,3,4,5} co domain = 4, range :{2,3,{5,6}
(iii) N\ /)
| 2 —— 3
Ei—
| 5. e——
\ 6. / N/
.l‘\J_,."l -\\h ja
22 | D, =(—=,-2]U[2,%). Rz =[0,%9)
D, =[-4.4]. R, =[0,4]
1
D, =(-3,3) B =l5)
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